0000000 ((@Ooooo0ooo nDooooooo 20120 10 250

I 0000000 WebOGOOOoooooooooooooooooooooooobooboooobooooo
gbodabgil1ogbogbboobooboobuoobobobooboobooan

oooo ooooo ooooo ogoooooo oooo
oooo O 20110 O 20100 O 2009 O O 2008 O O 2007000

Ql. 0oooooooooooooo?

oooooo ooooooooo oooooo
Q2. 0000000OOoOoOoOoOoooooovY

ogoooOooooog oooooooo ooooo ooooooo
Q3. 000000o00ooboooooooono?

ogoooooooog oooooooo ooooo ooooooo

(1) 00000000 10000000000000000000000 bitO0ODOOO

(2) 1000000 (1)DDDODO0O0O0O0O0O00O000000000100000000000000 byteOOOOO

(3 50000 (0000000000 D00)00000000000000000000D00000N0NOoN0nO
()000o0Ooooooon

(4) 0000000000 0000D0000000000000000O000D000000O0000O000000
boboooooobooboobbooboooobooboboooobooooboooboooooooooooboOoDbOon
Oo000ooOoo00oooOo0OooooOoOoDooOIogoooog bhitobDDoOO

gooo ERN

(1/6000)



II 000000 oooobobobo 20000000000D0DOODOODODODOOOOODO

() 122wpit0D00000000000000000000000O000O000O00000

(2) 126t 0000000000000 0O00O0O0O0O0O0O0O0O0OO0OO000O0000

(3) 126t 00 0000000000000 0000O000000O0000000000000

(4) 00 12bit000000000D0000000O0O0O0O00OOO0O0

(a) 0000 0010 1101

(b) 0100 0000 0010

(c) 1111 1110 0110

(d) 1000 0000 0001

(5) 0000 2zDO 16bit0000000000O0OODNO1011 10111011 10110000042+ 10 20 bit 00
ooobooooboboooooboooobooooono

(2/6000)



(6) 000D zDO 16bit000000000000O0O1111 1100 1100110000000z +40 12bit000
ooooboboooooboooooboboooooobooon

(7) 00000000000 126t 0000000000000000

(a) 46

(b) 103

(d) —103

I 00AO0008DDDDDODONDNODNONDODNONOONDODD (0D0D0OD0DDDOOD0DDDO0DOOD00N0NOO)0O
gboooooboboboobooboboooooon 3DDDDDDDX ooooooon

DDDDDDDDDDDDDDDDDDD 500 cm? 0000
DDDDDDDDDDDDDDDDDDDDDDDD 100MB/s 0000
DDDDIZII]DDDDDD|:|DDDDDDDDDDDDDDDDDDDDDDDDDD
DDDDDDDDDDDDDDDDDDDDDD 2GBOODOOOOODOO 20000000
DDDDDDDDDDDDDD it 0000000000 000000000 1200000000
DDDDDDDDDDDDDDD CpUO 1000000000 O0O0OODOOOODDOOOODO
DDDDDDDD cpUO0ODOOOOODOOD 3GHzOOOO
DDDDDDDDDDDDDDDDDDDDD 0000000000000000
DDDDDDDDDDDDDDDDDDDDD Jobooooooooono
DDDDDDDDDDDDDDDDD(DDDDDDDDDDD)DDDDDDDDD

gooo ERN

(3/6000)



IV 0000oooboobooboboooboobooooobooooobooo

Oog A [ 0o
oo
A B
1 0 0
oo
0 1
1 0
00 B
1 1
V 0000000000000000O0oooooo
A5Bs Ay4By A3 B3 A Bo A1 By Ao Bo Cin
A B G A B G A B G A B G A B G A B G
gooo gooad gooad oooo ogooo gooad
Co S Co S Co S Co S Co S Co S
Cout Ss S4 S3 Sa S1 So

(1) 00350 6bit0000000000000A5A4A3A,A1A 00000000000 6bit00O0O0OO0
000 BsB4B3B.B:By D OODOODO Cpy = 1000000000000 0O0OCOOOOODOODOOO
Cin=10000

(2) 20000 -230 140 6bit000000000000000 AsAsA3A2A;Aq O B;B4B3BoB1By 000
000000000 CowSsS4838:9:S0 00 0000000000000 000 Cip=00000

(3) AsA4A3A2A1A0 0 100101 00C,, 0D 0000000006bit0000000000 BsByB3BaB1By 00
gbooboobobbooboobooboobobbobboboobobooboon

(4/6000)



VI 0000000000 480GBO000OO0O0O0O0ODODOOI2000rpm (00 1200000)0000000 200
0000000 (040)0000000 480GBO000000O0O0O00ODO0OO0OO0OOOOOOOODOOOOD
00 120MB/s 0000(000000000D00000D0)00000000000 6ms000 10ms 0000

(1) 00000000000 000000000000000000000000000D00000O0000000
oooboooobooooboooo

(2) 000000000000 00 24MBOOOOO0OO 1000000000000000 1000000000
goooooooobooboboooooooooooooooobobobooboobooobobOoooDOoD
000000 (24MB)00000000DOO0O0O0O0O0OODOO1I000000000000000000000
uoooboooobooboooobobooog

VII 1024MBOO0O0DO(0000D)0000000000000000 8KBOOOOOODODOOODOOODO
0000000000000 000010000000000000000000000 1024MBO0OOOOOO
00800MBOOOO0OOD0O0O0D0OOOOOIKB=2YBOIMB=2BO000000000 (00000)00000
000000 2ms000000000000000000000000000000000000000000
0000000 12ms 0000000000000000000000000O0O0O0O0OOO000000

000000000000000000 1000MBO (0000)0000000000000000O (0DOO
0)02byte 00 000000000000 O000O0I00000D0D0000O0DODOOOO0OOODOOOOOO
0000000000000000000CPUD (000O000O0OO0O0OO0)10000000000000000
000000000000000000000000

gooo ERN

(5/6000)



VII 00 32bit CPUODAO BOOD 200 32bit0000000000000000O00OOO0OO0OO0O0
0000000000000000 (LbI) 00000 (LD)D0DD0OD0 (ST DALUDDODODNODNONONOnO
O (ADDO SUB) 0O DODODOOODO0OODONOOOONOOODONOONONDOOONODODOO (JAL)ODOOO
0000000000000 0000000000 (JLT) 000000
0000000000 (JLE)D0ODO0O000D00D0000000 (JGE)O
0000000000000 (JeT)00DO0000000O0

00D000000000D000 32bit CPUOOOO COO0D0O00 iﬁ?f;l;i@jﬂ;ﬁﬂ
0D00000000000000000000000000000000 sum = sum + ij
CO0O0DO00D0D0i0swmOd000000000000 3210000 :

1234000032bit 000000000O0O0OCO0OOOO0OO0O

int i, sum;

ooooo

ooooo 0ooooooo
ooooo
100 LDI A, O 0000 A0DOO0DD (DODODOD)
104 ST A,1234 0000 ADODCOOOODD 123400 (00 sam)0000 (0DO0DDO)
108 LDI B, 1 0000 BOOO 1000 (DODODOD)
112 STB,3210 [OODOBOODOODOD 321000 (00 4)0000 (CODO0)
116 LDI A, 10 0000 ADDO 10000 (0D0D00O000)
120 SUB A, B 0000 AODOOOOBOODOOOO(DDOO)
124 JLT 152 0000000000 01520000000 (0000)
128 LD A, 1234 0000 123400000 (00 sum) 00000 AODOD (0DDODDO)
132 ADD A, B 0000 AODOODBOOODOOO (DODO)
136 ST A,123¢ 0000 ADOOCOOOD 123400 (00 sum)0000 (0DODO)
140 LDI A, 1 0000 AQDD 1000 (000D0000)
144 ADD B, A 0000 BOOOOD ADDODOOOD (DOOO)
148 JAL 112 0D 1120000000 (00D0)

152

a = 100 - b;

DDDDDDDDDDDDDDDDDDCDDDDD(DDD)DD .
if (a <=b) {

000 (00 CPUD)000D0OOOOODODOOODODOOOODOOOO a = b;
oobO200000000000000000 a0 int0O0O00onO ilse{
OO0O00ooDOobO 400000 6s00000032bit0000000O0O0OO bjb+1;
ooooobooogon } BT

(6/6 000)



